

Operations Memorandum

To: New Haven Board of Education Finance and Operations Committee

From: Anthony Latella (Director of Print Services)

Date: 06/10/21

Re: Color and Specialty Paper Supplies – FY 21-22

Contractor Name: Lindenmeyr Munroe

Contractor Address: 235 Great Pond Drive, Windsor, CT 06095

Is the contractor a Minority or Women Owned Small Business? No

Renewal or Award of Contract/Agreement? Award of Contract

Total Amount of Contract/Agreement and the Hourly or Service Rate:

Not to Exceed \$ 434,039.00

Contract or Agreement #: 70205027

Funding Source & Account #: BoE Operating Budget - 190-478-00-55520

Key Questions: (Please have someone ready to discuss the details of each question during the Finance & Operations meeting or this proposal might not be advanced for consideration by the full Board of Education):

1. What specific service will the contractor provide:

The above contract is for the paper and substrates needed to produce printed material for the 2021-2022 school year. In order to effectively brand NHPS and to foster and improve communication between NHPS, The City of New Haven and all stakeholders of NHPS the production of high-quality printed materials is required. This includes Wall, Floor and freestanding graphics for school buildings to promote safety and community within our schools.

The Print Shop and NHPS students provide the district with various materials including: Business Cards, Posters, Banners, Letterhead, Bound Booklets, Carbon-Copy Forms, Floor and Surface decals and graphic design services that allow the district to generate professional quality materials at a fraction of the outsource cost.

2. How was the contractor selected? Quotes? RFP? Sealed Bid or Sole Source? <u>Please describe the selection process</u> including other sources considered and the rationale for selecting this method of selection:

The contractor was selected as the lowest complete bid to a public sealed bid solicitation. The contractor was the only respondent in the bid this year while 17 companies reviewed the public information. This method of selection is used each year as it is the most effective for commodities contracts and allows us to split the P.O. to select the lowest cost per item if needed.

3. If this is a renewal with a current vendor, has the vendor's performance been satisfactory under the existing contract or agreement?

Effectiveness for this bid is based on timely and satisfactory delivery of supplies. Supplies are ordered on an on-demand/on-need basis and delivered directly to 181 Mitchell Drive. In the past, this vendor has shown reliability, flexibility and promptness on delivery of bid items.

4. If this Contract/Agreement is a Renewal has cost increased? If yes, by how much?

The contract cost increased by \$ 164,627

This is due to the increase in prices from manufacturing costs. We were able to avoid this increase in the past fiscal year by executing a contract renewal with the prices from FY2019-2020. Current indicators are showing increased demand for paper pulp for cleaning and PPE and forecasting price increases from suppliers.

Latex substrates and inks were also added to the bid to allow for the creation of floor and wall graphics in response to school's needs after Covid-19 pandemic. These new materials are responsible for \$25,584.25 of the increase in cost.

The total bid amount is higher than the true price and has historically been only billed at around 60% of the total Not-To-Exceed amount.

5. If this Contractor is New has cost for service increased from previous years? If yes, by how much?

Not new

6. Is this a service existing staff could provide? Why or why not?

No, It is a supply contract so that the staff and NHPS students can provide the service to the district to lower the cost of printed materials for the district.

Solicitation #: 70205027 Closed:06/17/2021 Total Cost Selected # Selected (\$)

Lindenmeyr Munroe \$ 434,038.250000(0

\$0

| # | Items | Lowest | QuantityRe UnitMe | asur UnitPrice | TotalCost |
|------------------|--|----------------------------|-------------------|---------------------|----------------------------|
| | | | | | |
| 1 | 0.4/2 P20 DC044 F0H Off | | | | |
| ша а | 8 1/2 x +B28:D6011 50lb. Offset smooth opaque 96 | ć F 202 7F | 125 | ć 42.25 | ć F 202 7F |
| #1-1 | or equivalent-White | \$ 5,293.75 | 125 carton | \$ 42.35 | \$ 5,293.75 |
| #1-2 | 8 1/2 x 11 60lb. Offset smooth opaque 96 or equivalent-White | ¢ 17 450 0 | 2EO carton | ¢ 60.8 | ¢ 17 450 0 |
| | 8 1/2 x 11 70lb Offset Smooth or equivalent | \$ 17,450.0 \$ 7,393.75 | | \$ 69.8 \$ 59.15 | \$ 17,450.0 \$ 7,393.75 |
| #1-3 | 8 1/2 x 11 70tb Offset Sindoth of equivalent 8 1/2 x 11 60lb. Spring Hill or equivalent assorted | \$ 1,393.73 | 125 carton | \$ 59.15 | \$ 7,393.75 |
| #1-4 | colors | \$ 30,520.0 | 400 carton | \$ 76.3 | \$ 30,520.0 |
| π1- 4 | 8 1/2 x 11 67lb. Spring Hill vellum bristol or | 7 30,320.0 | 400 carton | 7 70.5 | \$ 30,320.0 |
| #1-5 | equivalent assorted colors | \$ 13,675.0 | 250 carton | \$ 54.7 | \$ 13,675.0 |
| π1-3 | equivalent assorted colors | 7 13,073.0 | 230 Carton | Ş 34.7 | \$ 13,073.0 |
| #1-6 | 8 1/2 x 11 60lb. Astrobites offset - Assorted Colors | \$ 3,235.0 | 25 carton | \$ 129.4 | \$ 3,235.0 |
| | 8 1/2 x 11 65lb. Astro bright cover (no substitutes) | φ 3,233.0 | 23 (01.011 | 7 123.1 | ψ 0,200.0 |
| #1-7 | assorted colors | \$ 1,025.0 | 10 carton | \$ 102.5 | \$ 1,025.0 |
| | | Ψ - /0-0.0 | 20 00 | 7 101.5 | 4 -,0-010 |
| #1-8 | 8 1/2 x 11 Capitol Bond cotton cockle 24lbWhite | \$ 4,173.75 | 25 carton | \$ 166.95 | \$ 4,173.75 |
| #1-9 | 8 1/2 x 11 80lb. Gloss coated text-White | \$ 1,298.0 | | \$ 64.9 | \$ 1,298.0 |
| | 8 1/2 x 11 Cougar Digital Choice Text 70lb. Or | . , | | - 1 | . , |
| #1-10 | equivalent | \$ 2,033.74 | 25 carton | \$ 81.35 | \$ 2,033.749 |
| | · | | | | |
| #1-11 | 8 1/2 x 11 90lb. Exact wausau index equivalent | \$ 591.0 | 10 carton | \$ 59.1 | \$ 591.0 |
| #1-12 | 8 1/2 x 11 80lb. VIA Linen Cover stock | \$ 1,526.0 | 10 carton | \$ 152.6 | \$ 1,526.0 |
| #1-13 | 8 1/2 x 11 65lb. Cover stock lynx or equivalent | \$ 5,448.75 | 75 carton | \$ 72.65 | \$ 5,448.75 |
| #1-14 | 8 1/2 x 11 80lb. Cover stock lynx or equivalent | \$ 5,325.0 | 75 carton | \$ 71 | \$ 5,325.0 |
| #1-15 | 8 x 11 70lb. White or equivalent | \$ 3,279.99 | 50 carton | \$ 65.6 | \$ 3,279.999 |
| #1-16 | Classic Crest 8 1/2 x 11 24lb. Text | \$ 2,005.5 | 10 carton | \$ 200.55 | \$ 2,005.5 |
| | Classic Crest 11 x 17 100lb. Card Stock (Matching | | | | |
| #1-17 | item 16) | \$ 1,520.0 | 10 carton | \$ 152 | \$ 1,520.0 |
| | | | | | |
| #1-18 | Classic Crest #10 Reg. 24lb. (Matching item 16) | \$ 1,970.5 | | \$ 197.05 | \$ 1,970.5 |
| #1-19 | Carbonless 8 1/2 x 11 Heavy weight 2 part | \$ 2,875.0 | | \$ 115 | \$ 2,875.0 |
| #1-20 | Carbonless 8 1/2 x 11 Heavy weight 3 part | \$ 9,573.75 | | \$ 127.65 | \$ 9,573.75 |
| #1-21 | Carbonless 8 1/2 x 11 Heavy weight 4 part | \$ 3,408.75 | | \$ 136.35 | \$ 3,408.75 |
| #1-22 | Carbonless 8 1/2 x 11 Heavy weight 5 part | \$ 3,503.75 | 25 carton | \$ 140.15 | \$ 3,503.75 |
| #4.00 | | 4 600 05 | | 4 407 65 | 4 |
| #1-23 | Carbonless 8 1/2 x 11 heavy weight 3part Straight | \$ 638.25 | 5 carton | \$ 127.65 | \$ 638.25 |
| U4 24 | 8 1/2 x 14 60lb. Offset smooth opaque 96 or | ć o 205 o | 100 | ¢ 02 05 | 4.0.305.0 |
| #1-24 | equivalent-White | \$ 9,305.0 | 100 carton | \$ 93.05 | \$ 9,305.0 |
| #1 25 | 11 x 17 60lb. White smooth offset 96 brightness or | ¢ 20 200 0 | 400 carton | ¢ 72 25 | ¢ 20 200 0 |
| #1-25 #1-26 | equivalent 11 x 17 Cougar Opaque 80lb. Digital White | \$ 29,300.0 \$ 1,458.0 | | \$ 73.25 \$ 97.2 | \$ 29,300.0 \$ 1,458.0 |
| #1-20 | 11 x 17 Cougai Opaque 80ib. Digital Willte | \$ 1,456.0 | 15 carton | \$ 97.2 | \$ 1,456.0 |
| #1-27 | 11 x 17 65lb. Cover stock lynx or equivalent - White | \$ 1 866 25 | 25 carton | \$ 74.65 | \$ 1,866.250 |
| π1-Z/ | 11 x 17 Spring Hill or equivalent 67lb. Vellum | 7 1,000.25 | 25 Carton | \$ 74.03 | \$ 1,000.250 |
| #1-28 | Bristol Cover, assorted colors | \$ 4,113.75 | 75 carton | \$ 54.85 | \$ 4,113.75 |
| #1 ZU | 11 x 17 60lb. Assorted Exact wausau or equivalent | γ - η±±3.73 | , s carton | 7 54.05 | Ψ 1 ,113.73 |
| #1-29 | colors | \$ 7,900.0 | 100 carton | \$ 79 | \$ 7,900.0 |
| #1-30 | 12 x 18 60lb. White or equivalent | \$ 4,305.0 | 100 carton | \$ 43.05 | \$ 4,305.0 |
| | • | • | | - · | |

Lindenmeyr Munroe Solicitation Name: Color & Specialty Paper - NHPS Solicitation #: 70205027 **Total Cost** \$ 434,038.2500000 Closed:06/17/2021 Selected # Selected (\$) \$0 Items Lowest QuantityRe UnitMeasur UnitPrice TotalCost #1-31 18 x 12 80lb. Silk/Gloss cover - White \$ 8,009.99! 200 carton \$ 40.05 \$ 8,009.999 #1-32 12 x 18 80lb. Silk/Gloss text - White \$8,610.0 200 \$ 43.05 \$ 8,610.0 carton \$ 98.7 \$ 12.337.5 #1-33 12 x 18 10pt. Kast coated one side cover white \$ 12,337.5 125 carton #1-34 12 x 18 80lb. Offset - White or equivalent \$ 47.35 \$ 2,130.75 \$ 2,130.75 45 carton 12 x 18 70lb.- White or equivalent \$ 1,820.0 #1-35 \$1,820.0 50 carton \$ 36.4 #1-36 12 x 18 25% Cotton, light cockle, capital bond \$4,156.25 25 carton \$ 166.25 \$4,156.25 12 x 18 100lb. text White Nantucket Gloss/Silk #1-37 \$ 2,467.5 50 carton \$ 49.35 \$ 2,467.5 #1-38 18 x 12 100lb. cover White Nantucket Gloss/Silk carton \$ 44.35 \$ 443.5 \$ 443.5 10 #1-39 18 x 12 65lb. Cover White \$ 2,277.5 50 carton \$ 45.55 \$ 2,277.5 #1-40 18 x 12 130 lb coated cover gloss/silk \$ 868.75 25 carton \$ 34.75 \$ 868.75 #1-41 crack & peel 12 x 18 uncoated \$ 308.75 5 carton \$ 61.75 \$ 308.75 17 1/2 x 22 1/2 60lb. White smooth opaque 96 or #1-42 equivalent \$ 39,812.5 250 \$ 39,812.5 carton \$ 159.25 17 1/2 x 22 1/2 60lb. Spring Hill opaque smooth or #1-43 equivalent assorted colors \$ 47,862.5 250 carton \$ 191.45 \$ 47,862.5 #1-44 23 x 35 90lb. Index Assorted colors \$ 2,503.0 20 carton \$ 125.15 \$ 2,503.0 #1-45 23 x 35 65lb. Astro bright cover assorted colors \$ 2,198.5 10 carton \$ 219.85 \$ 2,198.5 #1-46 8.5x11 .030 Padding Board \$ 404.5 10 Bundle \$ 40.45 \$ 404.5 #2-1 A-2 Envelopes 70lb.Cougar - White/Natural \$ 493.0 10 carton \$ 49.3 \$493.0 #2-2 A-6 Envelopes 70lb. White/Natural \$ 554.5 \$ 55.45 \$ 554.5 10 carton #2-3 A-7 Envelopes 70lb. Cougar - White/Natural \$616.0 \$ 61.6 \$616.0 10 carton A-9 Envelopes 70lb. Cougar opaque or equivalent -#2-4 \$ 693.5 10 \$ 69.35 \$ 693.5 White/Natural carton #2-5 \$1,382.5 10 \$ 138.25 \$ 1,382.5 #6.75 - 24# Regular Envelope carton #2-6 \$ 311.25 #9 - 24# Regular Envelopes \$ 311.25 5 carton \$ 62.25 #2-7 \$ 54.7 \$ 10,940.0 #10- 24# Rounded flap plain regular envelopes \$ 10,940.0 200 carton #2-8 #10-24# Windowed plain \$ 649.0 10 carton \$ 64.9 \$ 649.0 24lb. #10 Reg. Env. 25% Cotton fiber - White -#2-9 Capitol Bond (match line 8) \$ 962.5 5 carton \$ 192.5 \$ 962.5 #2-10 \$ 50.85 \$ 2,542.5 10 x 13 28lb. White wove catalog envelopes \$ 2,542.5 50 carton #2-11 10 x 13 28lb. Brown Kraft catalog envelopes \$ 290.25 5 carton \$ 58.05 \$ 290.25 #2-12 15x20 White Wove 28lb. \$350 2 250 per box \$ 175 \$ 350 8 1/4 x 11 1/4 x 10 32 ect/200 # Brown Kraft #2-13 Cartons 25/bundle \$5,800.0 250 carton \$ 23.2 \$ 5,800.0 17 1/4 x 11 1/4 x 10 32 ect/200 # Brown Kraft #2-14 Cartons 25/bundle \$ 16,475.0 500 \$ 32.95 carton \$ 16,475.0 17 x 10 1/2 x 13 1/2 32 ect/200 # Brown Kraft #2-15 Carton 25/bundle (no sunstitute for this size) \$ 38,850.0 1000 carton \$ 38.85 \$ 38,850.0 #3-1 CZ682A HP 831A 775-ml Black Latex Ink Cartridge \$ 675 5 Cartrige \$ 135 \$ 675 #3-2 CZ683A HP 831A 775-ml Cyan Latex Ink Cartridge \$ 675 5 \$ 135 \$ 675 Cartrige

Lindenmeyr Munroe Solicitation Name: Color & Specialty Paper - NHPS Solicitation #: 70205027 **Total Cost** \$ 434,038.2500000 Closed:06/17/2021 Selected # Selected (\$) \$0 Items Lowest QuantityRe UnitMeasur UnitPrice TotalCost CZ684A HP 831A 775-ml Magenta Latex Ink #3-3 \$ 675 5 \$ 135 \$ 675 Cartridge Cartrige #3-4 \$ 135 \$675 CZ685A HP 831A 775-ml Yellow Latex Ink Cartridge \$ 675 5 Cartrige CZ686A HP 831A 775-ml Light Cyan Latex Ink #3-5 Cartridge \$ 675 5 Cartrige \$ 135 \$675 CZ687A HP 831A 775-ml Light Magenta Latex Ink #3-6 Cartridge \$ 135 \$ 675 \$ 675 5 Cartrige CZ706A HP 831 775-ml Latex Optimizer Ink \$ 135 \$ 675 #3-7 Cartridge \$675 5 Cartrige #3-8 CZ681A HP 831 Latex Maintenance Cartridge 2 \$ 142 \$ 284 \$ 284 Cartrige CZ677A HP 831 Latex Printheads #3-9 - Cyan / Black \$230 2 Cartrige \$ 115 \$ 230 CZ678A HP 831 Latex Printheads #3-10 - Yellow / Magenta 2 Cartrige \$ 115 \$ 230 \$ 230 CZ679A HP 831 Latex Printheads #3-11 - Lt Magenta / Lt Cyan \$ 115 \$ 115 \$ 115 1 Cartrige CZ680A HP 831 Latex Printheads #3-12 - Optimizer \$ 115 Cartrige \$ 115 \$115 48" x 82' 14 mil TexWalk PVC Vinyl Reinforced #4-1 Rem/Repos Adh \$6,278.25 15 Roll \$ 418.55 \$ 6,278.25 54" x 100' 6 Mil WallMark white matte Wall #4-2 adhesive \$ 2,339.0 10 Roll \$ 233.9 \$ 2,339.0 54" x 150' 4.5 Mil - Linroe White Vinyl Hi-Gloss #4-3 \$ 145.35 \$ 1,453.5 Perm Adh \$ 1,453.5 10 Roll 54" x 150' 4.5 Mil - Linroe White Vinyl Matte Perm #4-4 \$1,453.5 10 \$ 145.35 \$ 1,453.5 Adh Roll 54" x 100' 6 Mil Concept Semi-Rigid Vinyl Gloss #4-5 Rem Adhesive \$1,725.0 10 Roll \$ 172.5 \$ 1,725.0 38" x 164' 13 oz 1000D dtec Scrim Banner \$ 100.8 #4-6 (Gloss/Matte) \$1,008.0 10 Roll \$ 1,008.0 54" x 164' 13 oz 1000D dtec Scrim Banner \$ 130.05 #4-7 (Gloss/Matte) \$1,300.5 10 Roll \$ 1,300.5 54" x 150' 7 mil Campaign Window perf 70/30 #4-8 view, One way vision- adhesive and outside mount \$882 2 Roll \$ 441 \$882 54" x 150' 3.2 Mil DPF 4600 AE white gloss #4-9 \$ 321.95 \$ 643.9 RemTinted Adhesive, Air Release adhesive \$ 643.9 2 Roll 20" x 25 Yards - Sisor ColorPrint PU (Matte or #4-10 \$ 1,109.75 5 Roll \$ 221.95 \$ 1,109.75 \$ 69.1 \$138.2 #4-11 20" x 25 Yards - Sisor TTD High Tack mask \$ 138.2 2 Roll #4-12 20" x 25 Yards - Sisor ColorPrint Extra Roll \$ 221.95 \$ 1,553.649 \$ 1,553.64! 7 #4-13 AQ Scrim visual banner 15 mil. 42" x 60' \$1,136.0 10 Roll \$ 113.6 \$ 1,136.0 AQ Presentation paper mat coated 170 GSM 42" x #4-14 \$ 90.9 \$1,818.0 20 Roll \$ 1,818.0 AQ Photo paper high gloss or silk resin-coated 8 mil. 42" x 100' Insta-dry \$ 914.8 #4-15 \$ 914.8 8 Roll \$ 114.35 #4-16 AQ Matte Canvas 15 mil. 24" x 50' \$ 404.75 5 Roll \$ 80.95 \$ 404.75

| Solicitatio | on Name: Color & Specialty Paper - NHPS | | | | Lindenme | eyr Munroe | |
|-------------------------------------|--|----------|--------------------|---------------|-----------|------------|--|
| Solicitation #: 70205027 Total Cost | | | \$ 434,038.2500000 | | | | |
| Closed:06 | 5/17/2021 | | | Selected # | 0 | | |
| | | | | Selected (\$) | 5 | \$ O | |
| # | Items | Lowest | Quantity | Re UnitMeasu | UnitPrice | TotalCost | |
| | 36 x 100' white roll up block up banner media, | | | | | | |
| #4-17 | BA100 | \$ 694.5 | 3 | Roll | \$ 231.5 | \$ 694.5 | |
| #4-18 | 36" wide adjustable banner stand, INE814347 | \$ 352.2 | 4 | each | \$ 88.05 | \$ 352.2 | |

Solicitation #: 70205027 Total Cost
Closed:06/17/2021 Selected #
Selected (\$)

| # | Items | Lowest | QuantityRe | UnitMeasu | |
|-------|--|-------------|------------|-----------|-------------|
| | | | | | |
| 1 | | | | | |
| | 8 1/2 x +B28:D6011 50lb. Offset smooth opaque 96 | | | | |
| #1-1 | or equivalent-White | \$ 5,293.75 | 125 | carton | |
| | 8 1/2 x 11 60lb. Offset smooth opaque 96 or | | | | |
| #1-2 | equivalent-White | \$ 17,450.0 | 250 | carton | |
| #1-3 | 8 1/2 x 11 70lb Offset Smooth or equivalent | \$ 7,393.75 | 125 | carton | |
| | 8 1/2 x 11 60lb. Spring Hill or equivalent assorted | | | | |
| #1-4 | colors | \$ 30,520.0 | 400 | carton | |
| | 8 1/2 x 11 67lb. Spring Hill vellum bristol or | | | | |
| #1-5 | equivalent assorted colors | \$ 13,675.0 | 250 | carton | |
| | | | | | |
| #1-6 | 8 1/2 x 11 60lb. Astrobites offset - Assorted Colors | \$ 3,235.0 | 25 | carton | |
| | 8 1/2 x 11 65lb. Astro bright cover (no substitutes) | | | | |
| #1-7 | assorted colors | \$ 1,025.0 | 10 | carton | |
| | | | | | |
| #1-8 | 8 1/2 x 11 Capitol Bond cotton cockle 24lbWhite | \$ 4,173.75 | 25 | carton | |
| #1-9 | 8 1/2 x 11 80lb. Gloss coated text-White | \$ 1,298.0 | 20 | carton | |
| | 8 1/2 x 11 Cougar Digital Choice Text 70lb. Or | | | | |
| #1-10 | equivalent | \$ 2,033.74 | 925 | carton | 9999999998 |
| | | | | | |
| #1-11 | 8 1/2 x 11 90lb. Exact wausau index equivalent | \$ 591.0 | 10 | carton | |
| #1-12 | 8 1/2 x 11 80lb. VIA Linen Cover stock | \$ 1,526.0 | 10 | carton | |
| #1-13 | 8 1/2 x 11 65lb. Cover stock lynx or equivalent | \$ 5,448.75 | 75 | carton | |
| #1-14 | 8 1/2 x 11 80lb. Cover stock lynx or equivalent | \$ 5,325.0 | 75 | carton | |
| #1-15 | 8 x 11 70lb. White or equivalent | \$ 3,279.99 | 50 | carton | 9999999995 |
| #1-16 | Classic Crest 8 1/2 x 11 24lb. Text | \$ 2,005.5 | 10 | carton | |
| | Classic Crest 11 x 17 100lb. Card Stock (Matching | | | | |
| #1-17 | item 16) | \$ 1,520.0 | 10 | carton | |
| | | | | | |
| #1-18 | Classic Crest #10 Reg. 24lb. (Matching item 16) | \$ 1,970.5 | 10 | carton | |
| #1-19 | Carbonless 8 1/2 x 11 Heavy weight 2 part | | 25 | carton | |
| #1-20 | Carbonless 8 1/2 x 11 Heavy weight 3 part | \$ 9,573.75 | | carton | |
| #1-21 | Carbonless 8 1/2 x 11 Heavy weight 4 part | \$ 3,408.75 | | carton | |
| #1-22 | Carbonless 8 1/2 x 11 Heavy weight 5 part | \$ 3,503.75 | 25 | carton | |
| | | | | | |
| #1-23 | Carbonless 8 1/2 x 11 heavy weight 3part Straight | \$ 638.25 | 5 | carton | |
| | 8 1/2 x 14 60lb. Offset smooth opaque 96 or | | | | |
| #1-24 | equivalent-White | \$ 9,305.0 | 100 | carton | |
| | 11 x 17 60lb. White smooth offset 96 brightness or | | | | |
| #1-25 | equivalent | \$ 29,300.0 | | carton | |
| #1-26 | 11 x 17 Cougar Opaque 80lb. Digital White | \$ 1,458.0 | 15 | carton | |
| | | | | | |
| #1-27 | 11 x 17 65lb. Cover stock lynx or equivalent - White | \$ 1,866.25 | (25 | carton | 00000000002 |
| | 11 x 17 Spring Hill or equivalent 67lb. Vellum | | | | |
| #1-28 | Bristol Cover, assorted colors | \$ 4,113.75 | 75 | carton | |
| | 11 x 17 60lb. Assorted Exact wausau or equivalent | | | | |
| #1-29 | colors | \$ 7,900.0 | 100 | carton | |
| #1-30 | 12 x 18 60lb. White or equivalent | \$ 4,305.0 | 100 | carton | |

Solicitation #: 70205027 Closed:06/17/2021 Total Cost Selected # Selected (\$)

| | | | | Selected (\$) | |
|-------------|--|--------------|------------|-----------------------|-----|
| # | Items | Lowest | QuantityRe | e UnitMeasu | |
| #1-31 | 18 x 12 80lb. Silk/Gloss cover - White | \$ 8,009.99 | 200 | carton 3999999 | 999 |
| #1-32 | 12 x 18 80lb. Silk/Gloss text - White | \$ 8,610.0 | 200 | carton | |
| | | | | | |
| #1-33 | 12 x 18 10pt. Kast coated one side cover white | \$ 12,337.5 | 125 | carton | |
| #1-34 | 12 x 18 80lb. Offset - White or equivalent | \$ 2,130.75 | | carton | |
| #1-35 | 12 x 18 70lb White or equivalent | \$ 1,820.0 | | carton | |
| #1-36 | 12 x 18 25% Cotton, light cockle, capital bond | \$ 4,156.25 | | carton | |
| | , , , | . , | | | |
| #1-37 | 12 x 18 100lb. text White Nantucket Gloss/Silk | \$ 2,467.5 | 50 | carton | |
| | | ψ <u>-</u> , | | 04.00. | |
| #1-38 | 18 x 12 100lb. cover White Nantucket Gloss/Silk | \$ 443.5 | 10 | carton | |
| #1-39 | 18 x 12 65lb. Cover White | \$ 2,277.5 | 50 | carton | |
| #1-40 | 18 x 12 130 lb coated cover gloss/silk | \$ 868.75 | 25 | carton | |
| #1-40 | crack & peel 12 x 18 uncoated | \$ 308.75 | 5 | carton | |
| #1-41 | 17 1/2 x 22 1/2 60lb. White smooth opaque 96 or | ۶ 300.73 | J | carton | |
| #1 /2 | | ¢ 20 012 E | 250 | carton | |
| #1-42 | equivalent | \$ 39,812.5 | 250 | carton | |
| 44 42 | 17 1/2 x 22 1/2 60lb. Spring Hill opaque smooth or | ć 47.0C2.E | 250 | | |
| #1-43 | equivalent assorted colors | \$ 47,862.5 | | carton | |
| #1-44 | 23 x 35 90lb. Index Assorted colors | \$ 2,503.0 | 20 | carton | |
| | | 4 | | | |
| #1-45 | 23 x 35 65lb. Astro bright cover assorted colors | \$ 2,198.5 | 10 | carton | |
| #1-46 | 8.5x11 .030 Padding Board | \$ 404.5 | 10 | Bundle | |
| 2 | | | | | |
| #2-1 | A-2 Envelopes 70lb.Cougar - White/Natural | \$ 493.0 | 10 | carton | |
| #2-2 | A-6 Envelopes 70lb. White/Natural | \$ 554.5 | 10 | carton | |
| #2-3 | A-7 Envelopes 70lb. Cougar - White/Natural | \$ 616.0 | 10 | carton | |
| | A-9 Envelopes 70lb. Cougar opaque or equivalent - | | | | |
| #2-4 | White/Natural | \$ 693.5 | 10 | carton | |
| #2-5 | #6.75 - 24# Regular Envelope | \$ 1,382.5 | 10 | carton | |
| #2-6 | #9 - 24# Regular Envelopes | \$ 311.25 | 5 | carton | |
| | | | | | |
| #2-7 | #10- 24# Rounded flap plain regular envelopes | \$ 10,940.0 | 200 | carton | |
| #2-8 | #10- 24# Windowed plain | \$ 649.0 | 10 | carton | |
| | 24lb. #10 Reg. Env. 25% Cotton fiber - White - | | | | |
| #2-9 | Capitol Bond (match line 8) | \$ 962.5 | 5 | carton | |
| #2-10 | 10 x 13 28lb. White wove catalog envelopes | \$ 2,542.5 | 50 | carton | |
| #2-11 | 10 x 13 28lb. Brown Kraft catalog envelopes | \$ 290.25 | 5 | carton | |
| #2-12 | 15x20 White Wove 28lb. | \$ 350 | 2 | 250 per box | |
| | 8 1/4 x 11 1/4 x 10 32 ect/200 # Brown Kraft | 7 | _ | 200 por 000 | |
| #2-13 | Cartons 25/bundle | \$ 5,800.0 | 250 | carton | |
| //Z 13 | 17 1/4 x 11 1/4 x 10 32 ect/200 # Brown Kraft | 7 3,000.0 | 250 | carton | |
| #2-14 | Cartons 25/bundle | \$ 16,475.0 | 500 | carton | |
| πZ-14 | 17 x 10 1/2 x 13 1/2 32 ect/200 # Brown Kraft | J 10,473.0 | 300 | carton | |
| #2-15 | | \$ 38,850.0 | 1000 | carton | |
| | Carton 25/bundle (no sunstitute for this size) | 0.000 ډ | 1000 | carton | |
| 3 | | | | | |
| #2 1 | C7602A LID 021A 775 ml Black Latery Ind. Cartail de- | ć C75 | _ | Combuino | |
| #3-1 | CZ682A HP 831A 775-ml Black Latex Ink Cartridge | \$ 675 | 5 | Cartrige | |
| #2.2 | C7C02A UD 024A 775 1 C 1 1 C 1 1 | A 675 | _ | 0.13 | |
| #3-2 | CZ683A HP 831A 775-ml Cyan Latex Ink Cartridge | \$ 675 | 5 | Cartrige | |

Solicitation #: 70205027 Closed:06/17/2021 Total Cost Selected #

| | | | | Selected (\$ | 5) |
|-------|--|-------------|------------|--------------|------------|
| # | Items | Lowest | QuantityRe | e UnitMeası | i |
| | CZ684A HP 831A 775-ml Magenta Latex Ink | | | | |
| #3-3 | Cartridge | \$ 675 | 5 | Cartrige | |
| | · · | | | · · | |
| #3-4 | CZ685A HP 831A 775-ml Yellow Latex Ink Cartridge | \$ 675 | 5 | Cartrige | |
| | CZ686A HP 831A 775-ml Light Cyan Latex Ink | | | | |
| #3-5 | Cartridge | \$ 675 | 5 | Cartrige | |
| | CZ687A HP 831A 775-ml Light Magenta Latex Ink | | | · · | |
| #3-6 | Cartridge | \$ 675 | 5 | Cartrige | |
| | CZ706A HP 831 775-ml Latex Optimizer Ink | | | · · | |
| #3-7 | Cartridge | \$ 675 | 5 | Cartrige | |
| #3-8 | CZ681A HP 831 Latex Maintenance Cartridge | \$ 284 | 2 | Cartrige | |
| | CZ677A HP 831 Latex Printheads | | | Ü | |
| #3-9 | - Cyan / Black | \$ 230 | 2 | Cartrige | |
| | CZ678A HP 831 Latex Printheads | | | Ü | |
| #3-10 | - Yellow / Magenta | \$ 230 | 2 | Cartrige | |
| | CZ679A HP 831 Latex Printheads | , | | | |
| #3-11 | - Lt Magenta / Lt Cyan | \$ 115 | 1 | Cartrige | |
| | CZ680A HP 831 Latex Printheads | , | | | |
| #3-12 | - Optimizer | \$ 115 | 1 | Cartrige | |
| 4 | | | | | |
| | 48" x 82' 14 mil TexWalk PVC Vinyl Reinforced | | | | • |
| #4-1 | Rem/Repos Adh | \$ 6,278.25 | 15 | Roll | |
| | 54" x 100' 6 Mil WallMark white matte Wall | | | | |
| #4-2 | adhesive | \$ 2,339.0 | 10 | Roll | |
| | 54" x 150' 4.5 Mil - Linroe White Vinyl Hi-Gloss | | | | |
| #4-3 | Perm Adh | \$ 1,453.5 | 10 | Roll | |
| | 54" x 150' 4.5 Mil - Linroe White Vinyl Matte Perm | | | | |
| #4-4 | Adh | \$ 1,453.5 | 10 | Roll | |
| | 54" x 100' 6 Mil Concept Semi-Rigid Vinyl Gloss | | | | |
| #4-5 | Rem Adhesive | \$ 1,725.0 | 10 | Roll | |
| | 38" x 164' 13 oz 1000D dtec Scrim Banner | . , | | | |
| #4-6 | (Gloss/Matte) | \$ 1,008.0 | 10 | Roll | |
| | 54" x 164' 13 oz 1000D dtec Scrim Banner | | | | |
| #4-7 | (Gloss/Matte) | \$ 1,300.5 | 10 | Roll | |
| | , | | | | |
| | 54" x 150' 7 mil Campaign Window perf 70/30 | | | | |
| #4-8 | view, One way vision- adhesive and outside mount | \$ 882 | 2 | Roll | |
| | 54" x 150' 3.2 Mil DPF 4600 AE white gloss | | | | |
| #4-9 | RemTinted Adhesive, Air Release adhesive | \$ 643.9 | 2 | Roll | |
| | 20" x 25 Yards - Sisor ColorPrint PU (Matte or | | | | |
| #4-10 | Gloss) | \$ 1,109.75 | 5 | Roll | |
| #4-11 | 20" x 25 Yards - Sisor TTD High Tack mask | \$ 138.2 | 2 | Roll | |
| #4-12 | 20" x 25 Yards - Sisor ColorPrint Extra | \$ 1,553.64 | <u> </u> | Roll | 9999999999 |
| #4-13 | AQ Scrim visual banner 15 mil. 42" x 60' | \$ 1,136.0 | 10 | Roll | |
| | AQ Presentation paper mat coated 170 GSM 42" x | | | | |
| #4-14 | 100' | | 20 | Roll | |
| | AQ Photo paper high gloss or silk resin-coated 8 | | | | |
| #4-15 | mil. 42" x 100' Insta-dry | \$ 914.8 | 8 | Roll | |
| #4-16 | AQ Matte Canvas 15 mil. 24" x 50' | \$ 404.75 | 5 | Roll | |
| | | | | | |

Solicitation #: 70205027 Total Cost
Closed:06/17/2021 Selected #
Selected (\$)

| # | Items | Lowest | QuantityRe UnitMeas | |
|-------|--|----------|---------------------|------|
| | 36 x 100' white roll up block up banner media, | | | |
| #4-17 | BA100 | \$ 694.5 | 3 | Roll |
| #4-18 | 36" wide adjustable banner stand, INE814347 | \$ 352.2 | 4 | each |
| #4-18 | 36" wide adjustable banner stand, INE814347 | \$ 352.2 | 4 | each |